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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that

SECTION-A i~

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q1 Questions /=l A B C D
/ﬁl,l:’v(/‘ql fg/»v_(l% (‘};/ﬁfp/»vgf J/cf?u‘»il!.f;," (}f(‘f;gﬂ}f?v@
1. 1Y I v ot
Electric field lines: Always cross | Never cross each Cross each Cross each
each other other otherin aregion | otherin a region
of strong field of weak field
2, 'éd"*]uyﬁé imflvd!’ v/ =\ fA=v vi=f v=-2\i
The relation betweenv, f and A of a wave is: f
e BRI Z ST A
3. Fora normal person, audible frequency range for 10Hz to 10kHz| 30Hz to 30kHz | 25Hz to 25kHz | 20Hz to 20kHz
sound wave lies between:
a R TS YRR ST ) ks a #y, sed
The loudness of sound is most closely related to its: Frequency Period Wavelength Amplitude
WL Ay, 03 o3I AP0 T e e 658 L Nt Sk
5. _ febn
Which of the given devices can be used to produce Astring Aripple tank A helical spring A tuning fork
both transverse and longitudinal waves? (Slinky)
6. ,;,_Juiw‘ﬁ /L..':Tfﬁt ;-@J;’ 2l by b K€ Sk
The index of refraction depends upon: Focal length Speed of light Image distance | Object distance
el U iy
7. , e HAS FU 5x10® years | 6x10® years 7x10% years | 8x10° years
Half-life of Uranium *; U is:
R pm e s ;
8. 0GR S v¥ uﬁs/;;t elasticy i
Floppy is made of: Metal Glass matortal None of these
9. | o %{u”r:) iéfﬂéd/u."';.wff"ﬁ‘{“w” S S U7n B A STty
equandites wnoseyaluesvaryindecress siens Analogue Digital BothAand B None of these
are called:
f'f‘f:ﬁ'//b’d' ]4—&%&'5&-‘%4—&&%4—16&» éé—.bﬂux 6%&»@/4/!& -~ ,/ﬁlﬂ//ﬁ{ 6!7.‘/)"/‘/,1}}’(){,
ST SIS e i§F S P iU 48.8° o’
10. : 5 A
. i btz S Absorbed Totally reflected | Partially reflected Totally
The critical angle for the beam of light passing from water and partially transmitted
into airis 48.8° . This means that all light rays with an transmitted
angle of incidence greater than this angle will be:
fi;(_gu{;q.. 802 uyJJJ,fJJ}aLc.:’VQiU:Z/»
sdnd el g
i1 The combined resistance of two identical resistors, 25l Wz 80 120
connected in series is 8€2. Their combined
resistance in a parallel arrangement will be:
12. e O v H e s ey ol Ui B sIA
The practical application of mutual induction is: Resistor Transformer Inductor BothAand B

A =~
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Note:~ Section B is compulsory. Attempt any two (2) questions from Section C. 2L Yy e (- Y 4 f'y.&-q.dmr»,ﬁ HOR
SECTION-B ,».»
2. Write short answers to any five parts. (5x2=10) . ,é{ FalizF L;lzlé§¢_8f o
i. Write the symbol and truth table for AND gate. -édja?u’);luwédfigf i
ii.  Name two factors which enhance thermionic emission. ?4,Gﬂ.,_k;gﬁ:{ljxiamdcﬁd{J‘l:’»cui’ i
iii. Name four uses of oscilloscope. -é’—-{{/’c«w‘;’bgé_?f’}.’;l i
iv. Whatis a telescope? ? foo y’,f’(ﬁ v
v. State Laws of reflection, show with diagram. ‘ _écpl):c—ﬂ/ Lﬁnla{‘:dgcjf !}Lg}éﬁ PR
vi.  Write two features of Simple Harmonic Motion. _:‘i{{/’o?r‘;»(}’u’;‘u{rl(& Vi
vii.  State Hook's Law. Write its formula. & u,oswwéugujw_{ vii
viil. How does damping progressively reduce the amplitude of oscillation? : ?q,éf'fgéujaﬂyf(flé uﬁu’:hﬂ)‘ Viii
3. Write short answers to any five parts. (5x2=10) -Zég 7 ..-:{Jz/'! L»lﬂé&ééi o
i.  Whatis the difference between pitch and quality of sound? Se AU LTSI g
ii. Whatis meant by musical sofmd? S‘zr)l/l/éﬁibgé;r: i
iii. State Coulomb'’s Law. Write its mathematical formula. _éﬁoﬂhli L}Vb’wulééqﬂ'éuﬂié_v)f i
iv.  Draw the circuit diagram of three capacitors which are connected in series. -gf,&rlfy:'&f/d J/"..‘{u_:i‘;.,}:?z_ﬂ,_)ZX Jdv
v.  Whatis the difference between variable and fixed capacitors? -G’LQJ)L')L/J:LJ k‘ﬁr ﬂm&.‘ld{; R
vi. Whatis the difference between RAM and ROM? ' feJ I UA(ROM) 2 (RAM) ¢, i
vii. Whatis the difference between data and information? ' : Q.J)L/ui‘fr it vii
viii. Calculate the freqhency of a sound wave of speed 3405 _50.5m i‘@{’w! 340ms ™! é{dﬁjb,_@éﬁfﬁ"(ﬁ;{)«ﬂ,}jb Viii
and wavelength 0.5m . ' s
4. Write short answers to any five parts. (5x2=10) _ég F .-;Ml/"g L,lz’lék_&f 4

g2l 18- P St LT w1 Balisiusd G71 K SOW nfte JLAL ST
i. Calculate one month cost of using 50W energy saver for 8 hours daily in your st'udy room. Assume that the price of a unit is Rs.12.
ii. Draw a circuit diagram of Ohm’s Law. : ' b_g“’.lkrlfyi&f/dui@éﬁ;l i
iiil.  Which metal is used as the filament in an electric bulb? Write with reason also, _2& ELLJf,?q..&ﬁdL?pU"f SHHEATE i
iv.  Which has more penetrating power, an alpha particle or a gamma ray photon? Y‘q—(}ymyiuguﬁf‘&duf NS0 PIRV-4 L‘ﬁ A v

v. Define mutual induction. ' -ééqﬁéfﬁld;:‘ v
vi. State Fleming’s left hand rule. _éuguiw,:wfwv@ i
vii.  Define radio isotopes. ; Fy A8AIIL il

viii. What are background radiations? SRV RIS LS L viii
SECTION - C (Each question carries nine 09 Marks) W AILiy ) froo
5. (a) Describe the type of mechanical waves in detail. v (€3] ;zéug;ué.—»u,rwd;g,ﬁ () .8
(5) _ﬁd’béldil'f}:&u(zdﬁulu‘f/fé,l!bfugJﬂlééfff"c,;&!_q—s D 1)&6/:’%/&_(! ()

(b) The power of a convex lens is 5 D. At what distance the object should be placed from the lens so that its real and

2 times larger'image is formed.

6. (a) Whatis meant by electrostatic induction? Explain it with an activity. (1+3) _écwu:éu’lé_df ey ?4;.(3:7Lf F (W) e
5 P S EJEUE 28 12t 1 K &)
(b) A doctor counts 72 heartbeats in 1 minute. Calculate the frequency and period of the heartbeats.
7. (a) Whatis afuse? Explain how a fuse can be used (4 -zé.—.;u;vq,&wduh»,fméﬁ;gﬂédﬁl,ﬁ S ik (W) _7

to avoid electricity hazards.
(5) _n250KV E i N e o St 3 V- g-Oblur S8 1S 2 b g e 41 500 MW shdl ()

(b) A power station generates 500 MW of electric power, which is fed to a transmission line. What current would flow in

: E//‘;——-f 115-223-1A-41000

the transmission line, if the input voltage is 250 KV?
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SECTION-A (;i.»

Q1 Questions /=iy A B C D

L. c s Bsladls S S 7 2 Flaksy A1 2lesks] o 3y 0T

An electric current in conductors is due to the flow of: |  Positive ions Negative lons | Positive charges | Free electrons
?cl_u.f.”,JW#';J‘!EULJJ)'V/L?U?»LU:JJJIJ/M'-’ ; .

2, | Which is the most suitable means of reliable | * Jzu)-:b ¢ sk, kil ;_u.ml& &f
continuous communication between an orbiting Micro waves Radio waves Sound waves Any light wave
satellite and earth?

3. -Gl Ju#]r(}fé(f iy 2 3 4 5

| The number of isotepes of hydrogen is:
pMdhhed | e bl S il | S bboa B neie) | it WS 1kl RAISS155.2648

4. gLk Sdn

Step-up transformer: Increases the Increases the | Has more turns in | Has less turns in
input current inputvoltage | the primary coil |the secondary coil
| ME A i s i e | o g L sl 2,

5 |ma vacuum, all electromagnetic waves have the Speed Frequency - Amplitude Wavelength
same: ' ' '

6 | e g 1.33 1.52 2.21 2.42
The index of refraction of a diamond is: :

bl gt dB 7w 2L 1 U 1 /

T. R A =43b | 10log—dB log—dB 10log -2 dB log ~2 dB

Sound level in dB can be stated as: . 1, 1, I I
» ’Lf 3, % L] o

8. _4.()(5‘(51!5‘]3 2y skl J{J(jéju il ks J{;‘j(}g

An example of longitudinal waves is: Sound waves Light waves Radio waves Water waves
et EISPS RS | S Sz EonSe | “SrnslS x

9. Which type of an image is formed by a convex lens Inverted and Inverted and Uprightand Upright and
on a screen? real virtual real virtual
Tod2EAE L L IS e BTN L10C G |

,Uu'&)fﬁ ;c)l/»d:obli'»u:’»dl_(rb'},b/

10. Sk , 05V 2V 5v 1

v 0 Five joules of work is needed to shift 10 C of charge ov
from one place to another, The potential difference
between the place is:

i e untbe E S S R o Py e 5

* | The particles emitted from a hot cathode surface : .
) Positive ions Negative ions Protons Electrons

are called:

12. -q,ﬂ:‘lligég,ﬁt‘éi-{,l:jg,,,b T=2r m Teg \/E . =.2” ‘l_ - 27[\/§
Formula for the time period of simple pendulum is: g k g )
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Note:~ Section B is compuisory. Attempt any two (2) questions from Section C. oz Lydrne s ag}f‘;r.ﬁ-q_dwrb.p T
SECTION-B (:».»
2. Write short answers to any five parts. (5x2=10) -é{ Pz L.Izlék,‘}f 22
v Define simple harmonic motion. o AL r S A S
ii. I the length of the simple pendulum is doubled, what will be 6218 il Ut badt LT o i sy ol /i
the change in its time period? ’
i#”” What is meant by farsightedness? Sl e il
iv. Determine the power of lens if its focal length is 10m. _éﬁ” uwu‘ 17 710m i@d/}é' ,.\.‘».-Qfl v
W State Snell's Law and write its formula. _é] Ud Ur,svu:,,réuyuisv& v
vi"Draw the symbol of NOT gate and write its truth table. _{—l:,—cl’-é -2V 18] l»ld’f Yaleb i
vi” NAND gate is the reciprocal of AND gate. Explain. ool N9 § T 4
viii. What is meant by loglc variables? Tl _VL'/WU{;.»_CU viii
3. Write short answers to any five parts. ’ (5x2=10) ,é;/’ _-.uz;? L,mége,éf .3
1" How the depth of sea can be measured by ultrasonic? S'JZEVLJ 4_),»-(5_{;4 /’Lfal ¥4 (54/ K
“( What are stéihoscope and tuning fork? 104 L”J Lﬁxf u!..(f”:"w R
¥ Define unit of intensity level of a sound. . Ey ¥ A qu’!édz’.o"" &l i
W State Coulomb’s Law. éugum,df v
v. Draw the electric field lines of positive and negative charges. -z_—(«/lw&f /’5(5/4!'1:4' uly-'u,g . RY
vi. What is the use of coaxial-cable wires? fe ly‘b’m;d’/ J/(lf i
Vﬂ.’- What Is electronic mail? Write its one advantage. ?2.554 /’ (}i..,[ vaq,y df J /:."l vii
viii. Whatis the function of INTELSAT and SATCOM? T4 KlF¥ SATCOM s INTELSAT viii
4. Write short answers to any five parts. (5x2=10)- é/ Y4 L;I/lﬂkc_éf 4
i Define Isotopes and give an example. .Z‘f ,dl/ufl uléd o (54/ }/T A
i/ State Ohm's Law. Write its equation. _.:‘f' wvém_éugwwﬂ,: Jdi
iil. 1f 0.5C charge passes through a wire in 10s, then what will be Sl /B Vidog b U108 8, J 0.5C Ut AL
the value of current flowing through wire?
i What are tracers? Write one use of them. : _é du” |~£‘KL‘JWU§LH Wil v
\/ What is a transformer? Sg-brls PR N
W/~ What is a nuclear fission reaction? tebalre J ldnf ,-:Ky’ vi
vii?”™ Write two reasons of back ground radiations? 4‘10 ..47»,6 BN Lk 531/ ..C Vi
vili. Can current flow in an electric circuit without potential -é.wu,sg,cﬁ,,. HEf /Sdf‘:guf Ve SN i

difference? Explain.

SECTION - C (Each question carries nine 09 Marks) (U!#iLi» 1) free
5. (a) Whatis a ripple tank? Explain its construction and working with the help @ -éz_(-lf!‘bub)d(l{ulu;(z(fu'm;_y ..ﬁd.‘u (W) 5
“of a diagram.

®) ASVEISHE eSS LS 1 I E 7 e 34 5D sSSP i (D

(b) The power of a convex lens Is 5D. At what distance the object should be placed from the lens so that its real and
2 times larger image is formed.

(1+3) oS Lt crnds ) et Sisl (D 6
6. (&Y Whatis meant by reflection of sound? Describe the phenomenon of echo with the help of an activity.
(1+3+1) _é(}*’..:xduj;g?éﬂywi.,)fuw&u;_uzéi;z,).:ul_ﬂso ¢« g, =5uC s g, =10uC z s ()
(b) Two point charges g, =10uC and g, =5uC are placed at a distance of 150cm. What will be the Coulomb’s
force between them? Find the direction of the force also.

7. (a) Define Half Life and explain it with an example graphically. (1+2+1) éwlﬁ;aé’,}(}a if; BLL(JL#J’ lul&{..d/(fdﬂu ) .7

S156:52 81712000067 SIS 148U atr S LU -t 12V 7240V AP L )

(5) ggf-}” shadt| du:f’ (54

(b) Atransformer, is needed to convert a mains 240V supply into a 12V supply. If there are 2000 turns on the primary

coil, then find the number of turns on the secondary coil.
M L 116-223-1A-35000
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